3 ODEDIMBEE

% Al A H o
M 5+-(0+8)= an (22—6)+8=
@ 24—8—8= (18 21 +3X9=
@ 208+ = a» 24+-6—3=
@ 160+4+8= ) 3X(©Q—=0b)=
® b5—3+9= e 8XT7+8=
© 8+@—3)= @ 16+©@="71=
N 9—04+6= ) 4+7—1=
® (13—8)X9= @ 41 —9X4=
@ 8—B8-=7= 25 2442 +7=
10 420 +6)= 26 6 X (4X3)=
an 7+G+7N= @D 4X16+4=
(12 6 X (56 +8)= @8 (b2+1)+9=
(13 2+8X2= ) 9X6—32=
(14 36+(4X3) = GO (6+7)X9=
(19 2X2Xb= @) b6+-8+2=
(16 9+2+8= @ 6X Q2+ =




B3ODEKDMRBRER (BXK)

an 2
O

(18) 63
@ 8

a9 1
® b

Q0 12
% b

@n 64
B 11

22) 8
©® 8

23 10
M 0

24 5
® 45

25 8
@ 7

6) 12
10 6

@D 16
an 19

28 '/
(12 42

29 22
(13 18

G 117
14 3

@n 9
(15 20

(32) b4
(16 19



